1.

2.

10.

11.

12.

gobboooogboo
p.31000 M(1,n)g — M(n, 1)

p5110000,00000000000
p9Ll7,11200000

p.16111 000
p33000200 000

p.7700 41.1(1) 00000
p.791200000

p.8215, 1700000
p.1291500000,000
p.1391200000
000000000000

. p.14 reduced row echlon form — reduced row echelon form 0000000 O

echlon 0 O echelon O OO

. p48 ooo400 V1 = [an,alz,()], O Vo = [CL21,CL22,0] — V1 = [au,agl,O], O

V2 = [CL12, 22, O]

. p48 000 200 [y, aal, [az1, az] — [a1, asil, [a12, ag:)]
. p-50 1.7 det(vy, v, v2) — det(vy, va, v3)

p5600,7ve®, 000(r)v=0(rv)0000000000000000

gboboboooobbbuooobobobooooboboooobboobooan
ObO.0b00bmobooobooboon

. ph900 32100000300 (o7)(n) — (o7)(n)

. p67182+1=30 - (3-2)+(3—-1)=2B3-2-1)+(2+1)=00+2+1

0
p.6912 (1) O (=1)** 000000
p.7333(5) 00000 det 0000000

p.77 O 4.1.3 M(1,n)c, M(m, 1)e O M(1,n)x, M(m,1), 000000000
M(m, 1), C™ O M(m, 1), K" 0000p.7815000000000000K"
000000000000000000.00000



13.

14.

15.

16.

17.

18.

p99 0000 Px)00000000000ODOOOOOOOOO
111 P = P(ay,...,an,b) = L = L(ay,...,a,,b)

113 P,H — L, H

1.16 P(aq,...,a,,b) — L(ay,...,a,,b)

pl4l 00 NOODODOOOODOOOODO—-0xz0 ADOOO XNODDO
gbooboooooood

p.1440 635000000000000 (D00 K"OOOODODDOOOO(O
0952)00000000000)00000

p.153 57 Lgn 5 0 L ym

n=0 n! m=0 m!

p.196 00000000 (Minkowski) 0D D00O000O0OO0O0DO0OOODOODOO
00000000 (Minkowski) 0 OO0

OO0O00000O Hermite’s constant 196
Oogoo

p20r 000000 DOODOOO0OOO0bLO0bO0n

2000000400

.po, 141 000000000000000n0 mOO00O0O.

.490 000 —-000
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